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1 n = int(input())

P

3 # 3, 4, 5&

4 vif nf/3 ==

5 print('spring')
6

7 #6, 7, 82

8 velif n//3 == 2:

9 print('summer’)
10

11 # 9, leo, 11

12 v elif n//3 == 3:

13 print(‘'fall’)
14

15 # 12, 1, 2E

16 else:
17 print@'winter'ﬂ
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6082 Bt 1
n = int(input())

for 1 in range(l, n+l):

else:

S I NV, IR S VST N

6082 HH 2

1 n = int(input())
2
3 vfor 1 in range(1l, n+l):

4 v ifi1%10==30ri%l10==6o0r1%10 == 9:

5 print('X"', end=" ")
6 v else:
7 printli, end= * 'I

strO®O2 U1 3, 6,9 £ HLatst I

ifi1%10==30r1i%10 ==6or i % 10 ==
print('X', end="

")

printKi, end= 'm
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n= 10
rand=map(int,"1 3 2 2 56 7 4 5 9".split())
student = [@ for _ in range(23)]

for r in rand:
\ student[r-1] =
prlntdstudentﬂ
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PS C:\Users\kes91\Desktop\PythonWorkspace> & E:/python.exe c:/Users/kes9
1/Desktop/Pythonkorkspace/100.py

2ME 20 7|1Y0f ALY H [1,2,3,4,5,6,7,0,9,0,0,0,0,0,0,0,0,0,0,0,0,0, 0]
= A
FZHIE Y2l 2E/FSLIC [r-1] =rand®] QIEA HS 7} =IC}

82 81710l 8 2 022 2| EoiQ/Ct.
6092'H 1y 1

1 n= 10 H 24
2 rand=map(int,"1 32256 7 4 5 9".split()) 609221 A1}
3 student = [@ for _ in range(23)] . )
4 pr‘inthtudentiL) 1 n= 1nt(lnPUt(?) )
" " 2  rand=map(int,input().split())
PS C:\Users\kes91\Desktop\PythonWorkspace> & E:/python.exe c:/Users/ 3 student = [@ for _ in range(23)]
kes91/Desktop/Pythonkorkspace/100.py 4

[6,0,0,0,0,0,00,00,0,0,0,0,00,0,0,0,0,0,80,80 5 < for r in rand:

]
6 ‘ student[r-1] += 1
E2 6092 - O|Als SAMEE27| 1 7 pr*int *studentﬂ
, e PS C:\Users\kes91\Desktop\PythonWorkspace> & E:/python.exe c:/Users/kes9
student = [0 for _ in range(23)]5 Soll 24712| 02= 2T 1/Desktop/Pythonkorkspace/100. py
HiZES BHSAULE. 10
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60779 2 1

n

1 = int(input())
P
3 sum = ©
7IO-IO'" 4 for i in range(n+l):
I-l_ :X_” 5 S
6 sum = sum +1
7 print@sudﬂ

ZHIE 20 7|90 HAHLIo 2R
ZHIE Hels 2&L|C
IS Seleh SRSHE 60778 4 2

6093H 1 = int(input())
1—— —n= int(input()) 2
2 rand = list(map(int,input().split())) 3arr =1l
: ;i?‘:;fﬁ:ij@) 4 for i in range(n+1):
= 5 1f 1 X 2==
6 arr. append(l)
TEQ 6093 - O|AISE ESMEZT| 2 7 prlnt(sum(arr‘)l)
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